
MODEL LWMB2 
Installation Instructions for  
Model LWMB2 Mounting Kit

Limited Warranty: This product’s limited warranty can be found at www.fedsig.com/SSG-Warranty. 

Messages to Installers and Users  Product should be installed to code by a licensed electrician and follow all safety 
instructions. Failure to do so may result in property damage, serious injury, or death.

•	 Read and understand instructions before installing or operating equipment.

•	 SHOCK HAZARD - To avoid electrical shock hazards, do not connect wires when power is applied.

Overview: The Model LWMB2 Mounting Kit enables the user to install Federal Models AV1ST, AV1-LED, FB2PST, FB24ST, 
FB24STHI, FB2LED, LSB, 121SLED, 121ALED, 131ST, 131DST, 141ST, 225, and 371LED on a wall or other vertical surface. 
The mounting kit can be used with or without a 4-inch electrical box.

Installing on a Four-inch Electrical Box

Figure 1

290B1326B

A

C
D

E
B

H

F

G

J J
K

A Plaster ring (shown, customer-supplied as required) or 
4 x 4 electrical box (not shown, customer supplied)

B Power supply wire
C Adapter plate
D Wire nut
E Mounting bracket assembly
F 8-32 x 1-1/4-in mach. scrs. round hd. (2) (for use with 

4 x 4 electrical box)
G 6-32 mach. screws, truss hd. (4)  (for use with plaster 

ring)
H Threaded bushing
J 1/4-20 Set screws (2)
K #14 x 5/8-in Type A screws (4)

Unpacking the Device: After unpacking the device, examine it for damage and verify parts. See Table 1 for kit 
contents. If a part is missing or damaged do not attempt to install. Contact Federal Signal Customer Support at  
+1 708-534-4756 or iordersup@fedsig.com.



 8459A093 Rev. E1 0921

 Table 1  Kit Contents List

Qty Description 

LWMB2

1 Mounting Bracket, Wall 

1 Backplate 

Accessory Kit

1 Plate, Adapter 

2 Screw, 8-32 x 1-1/4", Rd. Head

2 Screw, Set, Hex, Socket, 1/4-20 x 1/4"

4 Screw, Machine, 1/4-20 x 1-1/4"

4 Screw, Thd.Frm., Pan Hd. No 14 x 5/8"

4 Screw, Truss Head, 6-32 x 3/8"

1 Instruction Sheet 

1 Bushing, Threaded, 1/2" x 3/4"

1 Bushing, Reducer, 1" x 3/4"

1.	 Using the two supplied 8-32 x 1-1/4 inch screws, attach the adapter plate to the 4-inch electrical box.

2.	 Start to drill the two 1/4-20 x 1/4-inch set screws into the two threaded holes at the top of the mounting bracket 
neck.

3.	 Assemble the threaded bushing to the light base. Figure 2 illustrates the proper bushing orientation for all 
applicable models. Assemble the two set screws to the mounting bracket.

Figure 2

8459108
1" N.P.T.

3/4" N.P.T.

8459109
1/2" N.P.T.
For 1" Base

Model
371LED

  Model
LSB-120

8459109
1/2" N.P.T.
For 3/4" Base

3/4" N.P.T.

290B2592

Models
    AV1ST, AV1-LED, FB2PST,
FB24ST, FB24STHI, FB2LED, 
121SLED, 121ALED, 131ST, 

131DST, 141ST, and 225

8459109
3/4" N.P.T.
For 1/2" Base

1/2" N.P.T.

4.	 Feed the wires, protruding from the base of the light, down through the hole at the top of the mounting bracket. 
Insert the light down into the mounting bracket neck and tighten both setscrews securely.

WARNING - Do not make electrical splices within the mounting bracket.

5.	 Connect the light wires, now extending out the rear flange of the mounting bracket, to the supply wires in the 4-inch 
electrical box (refer to light Instruction Sheet).

6.	 Attach the mounting bracket and light assembly to the adapter plate, using the 5/8-inch stainless steel screws (4) 
supplied.



8459A093 Rev. E1 0921

Installing with External Conduit

Figure 3

290B1327B

A

B
C

D

H
J

K
L

M
N

L
P

G
F

Q

F

E

A Anchors (4) (customer supplied)
B Wall
C Backplate
D Mounting bracket assembly
E Threaded bushing
F 1/4-20 Set screws
G 1/2-14 NPT
H 1/4-20 x 1-1/4 machine screws (4)
J Customer supplied
K 1/2-inch Connector
L 1/2-inch Conduit
M 1/2-inch Condulet
N Wire nut
P Power supply wire
Q Make connections here

WARNING - Do not make electrical splices within the mounting bracket.

NOTE: This installation requires the use of user supplied hardware. Therefore, obtain mounting hardware that is 
appropriate for the mounting surface material before proceeding with the installation. 

1.	 Using the adapter plate as a template, scribe four drill position marks on the mounting surface (use four corner 
holes). 

2.	 Drill appropriate size holes, at the previously scribed marks, and install suitable 1/4-20 mounting anchors 
(customer supplied). 

3.	 Remove the 1/2-inch plug from the threaded hole at the base of the mounting bracket neck. Replace the plug with 
a 1/2-inch conduit fitting (not supplied).

4.	 Assemble the threaded bushing to the light base. Figure 2 shows the proper bushing orientation for all applicable 
models. Assemble the two set screws to the mounting bracket. 

5.	 Feed the wires, protruding from the base of the light, down through the hole at the top of the mounting bracket 
(neck of pipe flange). Insert the light down into the mounting bracket neck and tighten both set screws securely.

6.	 Feed the wires, now at the rear of the mounting bracket, through the  
1/2-inch conduit fitting (installed in step 4). 

7.	 Attach the mounting bracket and light assembly to the wall with 1/4-20 x 1-1/4-inch machine screws (supplied). 
Ensure that the backplate is positioned behind the mounting bracket flange as shown in Figure 3.

NOTE: Electrical splices must be made within a condulet box (customer supplied). 

8.	 Using the length of leads extending out of the 1/2-inch conduit fitting as a guide, determine the length of conduit 
necessary for the installation. Ensure that an adequate length of wire is left to make splices in the condulet.

9.	 Install conduit and condulet. Connect supply source wires to light wires at the condulet.



 8459A093 Rev. E1 0921

Maintenance and Service
Technical Assistance: Contact our Technical Support Team at +1 708-587-3587 or  
signalsupport@fedsig.com.

Repair Service: A return authorization is required. Contact your Authorized Distributor or Federal Signal 
Customer Support at +1 708-534-4756 or iordersup@fedsig.com. Defective products under warranty will be 
repaired or replaced at Federal Signal’s discretion. Lamp failures excluded.

Product Returns: A return authorization is required from Federal Signal prior to returning the product. Con-
tact your Authorized Distributor for more information or to request a product return.

2645 Federal Signal Drive, University Park, Illinois 60484
Additional translations available at signaling.fedsig.com 
Traducciones adicionales disponibles en signaling.fedsig.com
Customer Support  1-800-344-4634+1-708-534-4756, iordersup@fedsig.com 
Technical Support  1-800-755-7621+1-708-587-3587, signalsupport@fedsig.com
signaling.fedsig.com



Model LWMB2 
Instrucciones de instalación para 
el Modelo LWMB2 equipo de 
montajet

Garantía limitada: la garantía limitada de este productose puede encontrar en www.fedsig.com/SSG-Warranty. 

Mensajes para instaladores y usuarios  Los productos deben ser instalados según el código por un electricista 
autorizado y se deben seguir todas las instrucciones de seguridad. El incumplimiento de estas instrucciones es causa 
posible de daños materiales, lesiones graves o incluso la muerte.

•	 Lea y comprenda las instrucciones antes de instalar u operar el equipo.

•	 RIESGO DE DESCARGA ELÉCTRICA - Para evitar riesgos de descarga eléctrica, no conecte los cables mientras se 
aplica corriente.

General: El modelo LWMB2 de equipo de montaje permite al usuario instalar los Modelos Federal AV1ST, AV1-LED, 
FB2PST, FB24ST, FB24STHI, FB2LED, LSB, 121SLED, 121ALED, 131ST, 131DST, 141ST, 225, and 371LED en una pared o 
en otra superficie vertical. El equipo de montaje puede utilizar con o sin una caja eléctrica de 4 pulgadas.

Instalación en una caja eléctrica de 4 Pulgadas

Figura 1

290B1326B

A

C
D

E
B

H

F

G

J J
K

A Aro de yeso (sumistrado por el cliente como se necesita) 
o 4 x 4 caja eléctrica (no se muestra, sumistrada por el 
cliente)

B Cable de suministro eléctrico

C Placa adaptadora

D Tuerca de cableado

E Conjunto del soporte de montaje

F 2 Tornillos para metales de cabeza redonda 8-32 x 1-1/4 
(para la caja eléctrica de 4 x 4)

G 4 Tornillos para metales de 6-32 (para el aro de yeso)

H Buje roscado

J Tornillos fijadores 1/4-20 (2)

K Tornillos tipo A de #14 x 5/8 (4)

Desembalaje del dispositivo: después de desembalar el dispositivo, examínelo para detectar daños y 
verifique las piezas. Consulte la tabla 1 para ver la lista de contenido del kit. Si detecta que falta una pieza o 
está dañada, no intente instalar el producto. Póngase en contacto con el Servicio de Atención al Cliente de 
Federal Signal al  
+1 708-534-4756 o escriba a iordersup@fedsig.com.



 8459A093 Rev. E1 0921

Tabla 1  Lista de Componentes del Equipo

Cantidad Descripción 

LWMB2

1 Soporte de montaje, pared

1 Placa posterior

Equipo de accesorios

1 Placa, adaptadora

2 Tornillo, 8-32 x 1-1/4", cabeza redonda

2 Tornillo de fijación, Hex, enchufe 1/4-20 x 1/4"

4 Tornillos, máquina, 1/4-20 x 1-1/4"

4 Tornillos, roscados, cabeza plana 14 x 5/8"

4 Tornillo, cabeza 6-32 x 3/8"

1 Hoja de instrucciones

1 Buje, roscado, 1/2" x 3/4"

1 Buje, reductor, 1" x 3/4"

1.	 Utilizando los dos tornillos de ajuste 8-32 x 1-1/4" pulgadas, coloque la placa adaptadora en la caja eléctrica de 4 
pulgadas.

2.	 Coloque los dos tornillos de ajuste de 1/4-20 x 1/4" pulgadas en los agujeros roscados situados en la parte 
superior del cuello del soporte de montaje.

3.	 Encaje el buje roscado a la base de la luz. En el Figura 2 se muestra la orientación correcta del buje para todos los 
modelos aplicables. Introduzca los dos tornillos de el soporte de montaje.

Figura 2

8459108
1" N.P.T.

3/4" N.P.T.

8459109
1/2" N.P.T.
For 1" Base

Model
371LED

  Model
LSB-120

8459109
1/2" N.P.T.
For 3/4" Base

3/4" N.P.T.

290B2592

Models
    AV1ST, AV1-LED, FB2PST,
FB24ST, FB24STHI, FB2LED, 
121SLED, 121ALED, 131ST, 

131DST, 141ST, and 225

8459109
3/4" N.P.T.
For 1/2" Base

1/2" N.P.T.

4.	 Lleve hacia abajo los cables que salen de la base de la luz a través del agujero de la parte superior del soporte de 
montaje. Inserte la luz en el cuello del soporte de montaje y apriete bien los dos tornillos de ajuste.

ADVERTENCIA - No realice empalmes eléctricos dentro del soporte de montaje.

5.	 Conecte los cables de la luz que salen de la parte posterior del soporte de montaje, con los cables de suministro 
en la caja eléctrica de 4 pulgadas (consulte la Hoja de Instrucciones de la Luz).

6.	 Coloque el soporte de montaje y el aparato de luz en la placa adaptadora, utilizando los tornillos de 5/8 pulgadas 
de acero inoxidable (4) suministrados.



8459A093 Rev. E1 0921

Instalación del Conducto Exterior

Figura 3

290B1327B

A

B
C

D

H
J

K
L

M
N

L
P

G
F

Q

F

E

A Anclaje, 4 (suministrados al client)

B Pared

C Placa posterior

D Grupo de soporte de montaje

E Boquilla roscada

F Tornillos fijadores 1/4-20 (2)

G 1/2-14 NPT

H Tornillos para metales largos  
1/4-20 x 1-1/4 (4)

J Suministrado al cliente

K Conector 1/2"

L Conducto 1/2"

M Canal 1/2"

N Tuercade cableado

P Cable suministro eléctrico

Q Conecte aquí

WARNING - No realice empalmes eléctricos dentro del soporte de montaje.

NOTA: Para esta instalación debe utilizar equipo sumistrado por el al usuario. Por tanto, obtenga el equipo de montaje 
correspondiente a la materia de la superficie de montaje antes de llevar a cabo la instalación. 

1.	 Utilice la placa adaptadora como patrón y marque la posición de cuatro agujeros para taladrar sobre la superficie 
de montaje (los agujeros deben estar situados en las esquinas).

2.	 Taladre los agujeros del tamaño adecuado en el lugar previamente marcado e instale los anclajes de montaje 
1/4-20 (suministrados por el cliente).

3.	 Retire el enchufe de 1/2 pulgada del agujero roscado en la base del cuello del soporte de montaje. Sustituya el 
enchufe por un accesorio de montaje de canalizaciones de 1/2 pulgada (no suministrado).

4.	 Encaje el buje roscado en la base de la luz. El Figura 2 muestra la orientación correcta del buje para todos los 
modelos aplicables. Introduzca los dos tornillos de fijación en el soporte de el montaje.

5.	 Lleve hacia abajo los cables que salen de la base de la luz a través del agujero de la parte superior del soporte 
montaje (cuello de la brida del tubo). Inserte la luz en el cuello del soporte el montaje y apriete bien los dos 
tornillos de ajuste.

6.	 Conecte los cables de la luz que salen de la parte posterior del soporte montaje, a través del accesorio de montaje 
de canalizaciones de 1/2 pulgada (instalado en el paso 4).

7.	 Coloque el soporte de montaje y el aparato de luz sobre la pared con los tornillos para metales de 1/4-20 x 1/4 
pulgadas (suministrados). Asegúrese de que la placa posterior está colocada detrás de la brida del soporte de 
montaje como se muestra en el Figura 3.

NOTA: Los empalmes eléctricos deben realizarse dentro de la caja de derivación.

8.	 Utilice como guía la longitud de los conductores que salen del accesorio de montaje de canalizaciones de 1/2 
pulgada y determine la longitud del tubo aislante para la instalación. Compruebe que haya una longitud suficiente 
de cable para realizar empalmes en el conducto.



 8459A093 Rev. E1 0921

9.	 Instale el tubo aislante y el conducto. Conecte los cables de alimentación con los cables de la luz en el conducto.

Mantenimiento y servicio
Asistencia técnica: póngase en contacto con nuestro equipo de soporte técnico al  
+1 708-587-3587 o escriba a signalsupport@fedsig.com.

Servicio de reparación: se requiere una autorización de devolución. Póngase en contacto con su 
distribuidor autorizado o con el servicio de atención al cliente de Federal Signal al +1 708-534-
4756 o escriba a iordersup@fedsig.com. Los productos defectuosos bajo garantía se repararán o 
reemplazarán a criterio de Federal Signal. Las fallas de la lámpara están excluidas.

Devoluciones de productos: se requiere una autorización de Federal Signal antes de devolver el 
producto. Póngase en contacto con su distribuidor autorizado para obtener más información o para 
solicitar la devolución de un producto.

2645 Federal Signal Drive, University Park, Illinois 60484
Additional translations available at signaling.fedsig.com 
Traducciones adicionales disponibles en signaling.fedsig.com
Atención al cliente 1-800-344-4634+1-708-534-4756, iordersup@fedsig.com
Soporte técnico 1-800-755-7621+1-708-587-3587, signalsupport@fedsig.com

signaling.fedsig.com



Modele LWMB2 
Instructions d’installation pour le 
kit de montage Modele LWMB2

Garantie limitée : La garantie limitée de ce produit peut être consultée sur le site www.fedsig.com/SSG-Warranty. 

Messages à l’intention des installateurs et des utilisateurs  Le produit doit être installé par un électricien agréé et 
dans le respect de toutes les instructions de sécurité. Le non-respect de ces consignes peut entraîner des dommages 
matériels ainsi que des blessures graves, voire mortelles.

•	 Lisez et comprenez toutes les instructions avant d’installer ou d’utiliser le matériel.

•	 RISQUES DE CHOCS ÉLECTRIQUES - Afin d’éviter les risques de chocs électriques, ne pas brancher de fils si le 
dispositif est sous tension. 

Présentation :  Le kit de montage modèle LWMB2 permet à l’utilisateur d’installer les Modèles Federal AV1ST, AV1-LED, 
FB2PST, FB24ST, FB24STHI, FB2LED, LSB, 121SLED, 121ALED, 131ST, 131DST, 141ST, 225, and 371LED sur le mur ou sur 
toute autre surface verticale. Le kit de montage peut être utilisé avec ou sans la boîte électrique de 4 pouces.

Installation sur une Boite Electrique de 4 Pouces

Illustration 1

290B1326B

A

C
D

E
B

H

F

G

J J
K

A Anneau de plâtre (montré, fourni par le client selon 
la nécessité) ou boîte électrique de 4 x 4 (pas 
montrée fournie par le client)

B Câble d’alimentation par le puissance

C Plaque d’adaptateur

D Ecrou de fil

E Ensemble d’entretoise de montage

F Vis à métaux à tête ronde 8-32 x 1-1/4, quantité: 2 
(pour être utilisées avec la boîte électrique 4” x 4”)

G Vis à métaux, à tête plate bombée

H Douille filetée

J Vis de réglage 1/4-20 (2)

K Vis de type A #14 x 5/8 (4)

Déballage de l’appareil : après avoir déballé l’appareil, examinez-le pour voir s’il est endommagé et vérifiez 
les pièces. Voir le tableau 1 pour la liste du contenu du kit. Si une pièce est manquante ou endommagée, 
n’essayez pas d’installer l’appareil. Contactez l’assistance clientèle de Federal Signal au  
+1 708 534 4756 ou à l’adresse iordersup@fedsig.com. 



 8459A093 Rev. E1 0921

 Table 2  Liste de contenu du kit

Qté Description 

LWMB2

1 Support de montage, mur

1 Plaque arrière

Kit d’accessoires

1 Plaque, adaptatrice

2 Vis à tête ronde, 8-32 x 1-1/4"

2 Vis de réglage à tête hexagonale, 1/4-20 x 1/4"

4 Vis à métaux, 1/4-20 x 1-1/4"

4 Vis à tête cylindrique à dépouille filetée 14 x 5/8"

4 Vis à tête plate bombée, 6-32 x 3/8"

1 Fiche d’instructions

1 Douille, filetée, 1/2" x 3/4"

1 Douille, réducteur, 1" x 3/4"

1.	 En utilisant les deux vis fournies 8-32 x 1- 1/4 de pouce, attacher la plaque adaptatrice sur la boîte électrique de 4 
pouces.

2.	 Commencer à visser les deux vis de réglage de 1/4-20 x 1/4 de pouce dans les deux trous filetés situés sur le haut 
du collier du support de montage.

3.	 Monter la douille filetée sur la base de la lampe. La Illustration 2 illustre l’orientation correcte de la douille pour 
tous les modèles applicables. Assembler les deux vis de réglage sur le support de montage.

Illustration 2

8459108
1" N.P.T.

3/4" N.P.T.

8459109
1/2" N.P.T.
For 1" Base

Model
371LED

  Model
LSB-120

8459109
1/2" N.P.T.
For 3/4" Base

3/4" N.P.T.

290B2592

Models
    AV1ST, AV1-LED, FB2PST,
FB24ST, FB24STHI, FB2LED, 
121SLED, 121ALED, 131ST, 

131DST, 141ST, and 225

8459109
3/4" N.P.T.
For 1/2" Base

1/2" N.P.T.

4.	 Faire passer les fils, dépassant de la base de la lampe par le trou situé sur le dessus du support de montage. 
Insérer la lampe dans le collier du support de montage et serrer les deux vis de réglage correctement.

WARNING - Ne pas faire d’épissures électriques à l’intérieur du support de montage.

5.	 Connecter les fils de la lampe, sortant maintenant de la collerette arrière du support de montage aux fils de 
l’alimentation dans la boîte électrique de 4 pouces (se reporter à la fiche d’instructions de la lampe).

6.	 Attacher l’ensemble de la lampe et du support de montage sur la plaque adaptatrice, en utilisant les 4 vis fournies 
en acier inoxydable de 5/8 de pouce.



8459A093 Rev. E1 0921

Installation avec un Conduit Externe

Illustration 3

290B1327B

A

B
C

D

H
J

K
L

M
N

L
P

G
F

Q

F

E

A Ancrages, 4 (fournies par le client)
B Mur
C Plaque arrière
D Ensemble d’entretoise de support
E Douille filetée
F Vis de réglage 1/4-20 (2)
G Filetage NPT 1/2-14
H Vis à métaux longues 1/2-20 x 1-1/4
J Fourni par le client
K Connecteur 1/2"
L Conduit 1/2"
M Condulet 1/2"
N Ecroude fil
P Câble de l’alimentation en
Q Faire les connexions ici

AVERTISSEMENT - Ne pas faire d’épissures électriques à l’intérieur du support de montage.

NOTE: Cette installation nécessite l’utilisation de l’équipement fourni par le client. Obtenir, par conséquent, un 
équipement de montage qui est approprié pour le matériel de surface de montage avant de continuer avec l’installation.

1.	 En utilisant la plaque adaptatrice comme modèle, tracer quatre marques de position de perçage sur la surface de 
support (utiliser les quatre trous de coin).

2.	 Percer les trous de la taille appropriée sur les marques tracées précédemment, et monter les ancrages de support 
1/4 - 20 appropriées (fournies par le client).

3.	 Oter le bouchon d’un 1/2 de pouce du trou fileté à la base du collier du support de montage. Remplacer le bouchon 
par un conduit d’un 1/2 pouce (pas fourni).

4.	 Assembler la douille filetée sur la base de la lampe. La Illustration 2 illustre l’orientation correcte de la douille pour 
tous les modèles applicables. Assembler les deux vis de réglage sur le support de montage.

5.	 Faire passer les fils, dépassant de la base de la lampe par le trou situé sur le dessus du support de montage (col 
de la collerette du tuyau). Insérer la lampe dans le collier du support de montage et serrer les deux vis de réglage 
correctement.

6.	 Faire passer les fils, maintenant à l’arrière du support de montage, à travers le conduit d’un 1/2 pouce (montée à 
l’étape 4).

7.	 Attacher l’ensemble de la lampe et du support de montage au mur avec les vis à métaux 1/4 - 20 x 1-1/4 de pouce 
(fournies). S’assurer que la plaque arrière est positionnée derrière la collerette du support de montage comme 
cela est montré sur la Illustration 3. 

NOTE: Des épissures électriques doivent être exécutées dans la boîte du condulet (fournie par le client). 

8.	 En utilisant la longueur des câbles sortant de la fixation du conduit d’un 1/2 pouce comme guide, déterminer la 
longueur du conduit nécessaire pour l’installation. S’assurer qu’une longueur adéquate de câble est laissée pour 
faire des épissures dans le condulet.



 8459A093 Rev. E1 0921

9.	 Installer le conduit et le condulet. Connecter les fils de la source d’alimentation aux fils de la lampe dans le 
condulet. 

Maintenance et entretien
Assistance technique : contactez notre équipe d’assistance technique au  
+1 708 587 3587 ou à l’adresse signalsupport@fedsig.com.

Service de réparation : une autorisation de retour est nécessaire. Contactez votre distributeur agréé ou l’assistance 
clientèle de Federal Signal au +1 708 534 4756 ou à l’adresse iordersup@fedsig.com. Les produits défectueux sous 
garantie seront réparés ou remplacés à la discrétion de Federal Signal. Les lampes défectueuses sont exclues.

Retours de produits : une autorisation de retour est nécessaire de la part de Federal Signal avant de renvoyer le produit. 
Contactez votre distributeur agréé pour plus d’informations ou pour demander le retour d’un produit.

2645 Federal Signal Drive, University Park, Illinois 60484
Additional translations available at signaling.fedsig.com 
Traducciones adicionales disponibles en signaling.fedsig.com

Assistance clientèle +1 800 344 4634 et +1 708 534 4756, iordersup@fedsig.com

Assistance technique +1 800 755 7621 et +1 708 587 3587, signalsupport@fedsig.com

signaling.fedsig.com


